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1)   0.173 
 
2)   x = 1 
 
3)   02  x  
 
4i)  
 
 
 
 
 
 
 
 
4i)   (8, 4) and (–8, –4) 
 

5)   
3
12y    or   

3
11y  

 
6)   11  m  
 
7i)   amplitude = 3, period = 8π 
7ii)   a = –3, b = 4, c = 1 
 
8i) 
 
 
 
 
 
 
 
 
8ii)   (–1, 3) 
8iii)  1m  or 1m  
 

9ii)   
2

3,
6

5,
6


x  

 
10i)   t = 3.47 
10ii)  7.36 m 
 

11ii)  max area when 
3
   

 
13i)   A is (1, 0.5) 
13ii)  3.04 sq. units 
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1ii)  
3
552

3
2)(f 23  xxxx  

 
2i)   2k  
2ii)  1 real solution or 2 real and repeated  
        solutions 
 
3)   p = 3, 4q  
 
4)   4.45 sq. units 
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5ii)   r336   
5iii)   18564 

5b)    
n

k



1

4  

 
6i)    39   
6ii)   326652 BC  

6iii)   339182
3
2

  

 

7i)    
12

4
2 x
x  

7ii)   
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1
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7iii)   0.608 
 
8i)    9cos5sin9    
8ii)     99.60cos106   
8iii)    2.47,7.74  
8iv)   19.3 km 
 
9i)     (–0.5, 0) and (1, 27) 
9ii)    (–0.5, 0) is a point of inflexion.  
          (1, 27) is a maximum point. 
 
 
 
 
 
 
 
 
 
 
 
 



9iii)    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
10i)     a = 2  
10ii)       169132 22  yx  

10iii)   
12
23

12
5

 xy  

10iv)       222 13132  yx  
 
11i)      incorrect y = 47.5 
            Correct y = 37.2 
11ii)     a = 5.01, b = 1.40 
11iii)    x = 4.48 
11iv)    Draw lgݕ = ݔ lg 2 [Y=(lg2)X] 
            x = 4.55 


